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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 15.1: Clase 6 (SDR 26)

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 16.1 Clase 8 (SDR 21)

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 17.1 Clase 10 (SDR 16,2)

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 18.1 Clase 12 (SDR 13,6)

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s



18

20
22

In
fo

rm
ac

ió
n 

té
cn

ic
a

Ta
sa

 d
e 

de
sc

ar
ga

 m
3/

h

Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 19.1 Clase 15 (SDR 11)

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 20.1 Clase 19 (SDR 9)

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 21.1 Clase 24 (SDR 7,4)

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 22.1 Clase 30 (SDR 6)

V= 3,0 m
/s

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s

V= 8,0 m
/s

V= 7,0 m
/s

V= 6,0 m
/s

V= 5,0 m
/s

V= 4,0 m
/s
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Pérdida de carga [metros] para 100 metros de tuberías Pexgol

Tabla 23.1 Clase 24 (SDR 7,4) y Clase 15 (SDR 11)

V= 2,0 m
/sV= 1,0 m

/sV= 0,5 m
/s

50 mm x 4,6 mm

50 mm x 6,9 mm

40 mm x 3,7 mm

40 mm x 5,5 mm

32 mm x 2,9 mm

32 mm x 4,4 mm

25 mm x 3,5 mm

20 mm x 2,8 mm

16 mm x 2,2 mm

12 mm x 2 mm

V= 0,25 m
/s

0,1 0,2 0,3 0,4 0,5

0,01

0,02

0,03

0,04
0,05

0,1

0,2

0,3

0,4
0,5




